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06/04/12 mbroigrt56042_35.ppp_defaut+10d−15

438 s: Mdev= 0.86000E−12 Tdev= 217 ps
875 s: Mdev= 0.47475E−12 Tdev= 240 ps
1751 s: Mdev= 0.31112E−12 Tdev= 314 ps
3502 s: Mdev= 0.21874E−12 Tdev= 442 ps
7003 s: Mdev= 0.16876E−12 Tdev= 682 ps
14007 s: Mdev= 0.12402E−12 Tdev= 1003 ps
28013 s: Mdev= 0.77620E−13 Tdev= 1255 ps
56027 s: Mdev= 0.52299E−13 Tdev= 1692 ps
112054 s: Mdev= 0.42379E−13 Tdev= 2742 ps
224107 s: Mdev= 0.29770E−13 Tdev= 3852 ps
448215 s: Mdev= 0.15418E−13 Tdev= 3990 ps
896430 s: Mdev= 0.67368E−14 Tdev= 3487 ps
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